
13.3) Finding functions



Worked example Your turn

The curve with equation 𝑦 = 𝑓(𝑥)
passes through 3, 1 . 
Given that 𝑓′ 𝑥 = 4𝑥3, find the 
equation of the curve.

The curve with equation 𝑦 = 𝑓(𝑥)
passes through 1,3 . 
Given that 𝑓′ 𝑥 = 3𝑥2, find the 
equation of the curve.

𝑦 = 𝑥3 + 2



Worked example Your turn

The curve with equation 𝑦 = 𝑓(𝑥)

passes through 8,
6408

11
. 

Given that 𝑓′ 𝑥 =
𝑥3+4
3 𝑥

, find the 

equation of the curve.

The curve with equation 𝑦 = 𝑓(𝑥)
passes through 4, 5 . 

Given that 𝑓′ 𝑥 =
𝑥2−2

𝑥
, find the 

equation of the curve.
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